
 

 

 

Your job is now made more difficult because we have put this message together with no spaces 

between words, and have included no punctuation in the ciphertext.  This eliminates some guesswork 

on your part, because there are no obvious one-letter words, nor two-letter words.  With some 

diligence, however, you can put this message together using the same frequency distribution as in the 

previous example. 

 

 

 

Distribution: 

 

a – 17      n - 20 

b – 6      o - 27 

c – 10      p - 8 

d – 10      q - 1 

e – 50      r - 20 

f – 3      s - 26 

g – 7      t - 30 

h – 15      u - 17 

i – 23      v - 5 

j – 1      w - 11 

k – 1      x - 2 

l – 7      y - 4 

m – 9      z - 0 


